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2019(Even)

Time : 3Hrs. Sem. VIl - G
Lang. & Com. Skill

Full Marks : 80
Pass Marks : 26

There are two parts in the question
PART-I(ENGLISH) & PART-II(HINDI)
g3 H Tl @vs—/ (U vd @vs—// (fF=dh)
Answer 10 Question from Part-I and 10 Question from
Part-11 of Group-A, each question carries 1 mark

qu-A & Gvs—1 4 10 d1 wus—II 4§ 19 9l
® ST <, YAD YT bl 4 1 3D o |

Answer 4 question from Part-I and 4 Questions from
Part-11, of Group-B, each question carries 2,5 mark.

Ju-B @& @S —[ 4 4 dA1 @vs 11 9 4 gz
® SR T, IASD YT BT 41 2539 ¢ |

Answer 2 Question from Part-1 and 2 Questions from
Part-11 of Group-C each question carries 10 mark.

Ju—C & @vs—] ¥ 2 a1 @vs —I1 9 2 yeAl
® SR ?, YAD Y BT A 10 3D B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP U3 & Gl I $T SR UH &) o8 (AITaR $HH H)
BT A1fRY, Sy @ wifd e o Wahd ® |

The figure in right hand margin indicate marks.
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5.

PART -1

GROUP B 21xa=10

2

frr=feRaa Tensr @ eu9 9 Yed) uTl @

SR ¢ |

TSl &1 Sfigs wdoar fagafea sk
Jeafterd 2 | offaq Joal &) sa-it MaHR

IRTSTHAT Ugal MG & HHl 9+ 3 &l |

RIS gafaeer & are giepfas sk
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(iv)

)

(vi)

(vii)
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'Since' marks :

(a) Period of time

(b) Point of time

(c) Certainty of an action
(d) Scientific truth

The Adjective - form of the word
'Childhood' is

(a) Childish

(b) Childlike

(c) Both (a) and (b)

(d) None of these

Security Deposit is :

(a) Deposited by tenderers selected to
execute the work

(b) None - refundable

(c) Made by the tenderer who goes into an
agreement to execute the work.

(d) All of these

Which of the sentence is grammatically
incorrect ?

(a) It is time to leave for office

(b) It is time I left for office

(c) It is time I shall leave for office

(d) Now it is time for me to leave the office

P.T.O
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(xiv)

(xv)
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PART - |
GROUP B 2%;;4 =10

Read the following passage carefully and answer

the questions that follow:

"The designs used in the stamping machines are
made in Mumbai and Kolkata. They are moulded
into plaster casts and then transferred onto dies.
These master dies are sent to all the three mints to
ensure standardization of minting. The newly
minted coins are checked for weight, diameter
surface, scratches and discoloration. Then they are
counted, bagged and delivered to banks, where

they pass into circulation.

(a) Mention the context in which the two cities are
referred to.

(b) Why are the master dies sent to all the three
mints ?

(c) What are the newly minted coins checked for ?

(d) Give a suitable title to the passage above

P.T.O
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